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NYS COMMON CORE MATHEMATICS CURRICULUM ‘ Lesson 6

Homework

Given the geometric series defined by the following values of ay and r, first find the explicit formula. Then find the
value of n so that a,, has the specified value.
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If a geometric sequence has a; = 256 and ag = 512, find the exact value of the common ratio 7.
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If a geometric sequence has a, = 495 and a, = 311, approximate the value of the common ratio r to four decimal

places.
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 6

Honors Pre-

5.  Abouncy ball rebounds to 90% of the height of the preceding bounce. Craig drops a bouncy ball from a height of
20 ft.

a.  Write out the sequence of the heights hy, h,, h3, and hy of the first four bounces, counting the initial height as

‘ 2;01' 20 £F }\% = (&5 ﬁ{a
hy = 9\660,"’1):1«) «[:1 i\‘t: (34&39\,{‘)‘6
hy= (Q(0-4)=16.24%

b.  Write a recursive formula for the rebound height of a bouncy ball dropped from an initial height of 20 ft.
' 4
mulh pw previow) Yeim 5‘/ 0.9
c.  Write an explicit formula for the rebound height of a bouncy ball dropped from an initial height of 20 ft.
~ ¢ ‘ ﬂ I ‘ ' < ~
AN~ 0 (0.9) o -1 bjc the Liskferm 15 120
d.  How many bounces will it take until the rebound height is under 6 ft.?
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he=lo6a o g2 7780 ha = 5, 6977
hp24 574 hye 6.9 7H 2 fown o\

e. Extension: Find a formula for the minimum number of bounces needed for the rebound height to be under
y ft., for a real number 0 < y < 20.

A =20(04)"
vy 20(0:q)"

,_\_/_ S ONqA
' re this

ECIEN 2 fot dre
wﬁw(%/\v ! /7 “

COMMON Lesson 7: Geometric Sequences andExponential Growth and Decay n -
COM engage™ s

Date: 10/13/17

©2014CommonCore, inc.Some rights reserved.commoncore.org




